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A B gh = listfi] gt dt WEole &Y

» Tt AFE 1 swap(&a, &b) //a, bz rd B
void swap(int *x, int *y)
/071 HEe x, ye BedE 4
{
int temp = *x; /* temp BHHE intE2 MASID
tEl7|l= F=29| 8= X
=ty [ry7h 2tRl7e FAO| LIRS X7
te|7|= =20 HEC ¥/
*y = temp; /* templ| LHEZ y/} 7t2|7
K ESHCE */
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o3z Ee
#define SWAP(cy) () = (0, 09 = (), (y) = (1)
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#include <stdio.h>
#include <math.h>
#define MAX_SIZE 101
#define SWAP(x,y,t) ((t)=(x), ()=(y), (y)=(1))
void sort(int [ ], int); /* selection sort */
void main(void)
{
Int 1, n;
int listfMAX_SIZE];
printf("Enter the number of numbers to generate: ");
scanf("%d", &n);
if (n<1 || n>MAX_SIZE) {
fprintf(stderr, "Improper value of n");
exit(1);
}
for (i=0; i<n; 1++) { /* randomly generate numbers*/
list[i] = rand() % 1000;
printf(%d ", list[i]);



sort(list, n);
printf("Sorted array:");

for (i=0; i<n; i1++) { /* print out sorted
numbers */

printf("%d ", list[i]);
printf("");
}

void sort(int list[], int n)
{
Int 1, J, min, temp;
for (i=0; i<n-1; i++) {
min = I;
for (j=i+1; j<n; j++)
if (list[j]<list[min])
min = J;
SWAP(list[i], list[min], temp);
}
}
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i=q O CHoll, 2[F forz0| 2t=E[H list[q] <= list[r],
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« O A [OfZIEA] : d== searchnumO| H G listd| R_A=X| ZA}
— list[0] <= list[1] <= ... <= list[n-1]2 O|O|] M=EX=| AtEf S
— QICHH ist[i] = searchnum®! QB A (= Hiz}
_ olChH -1 Hb

. 7] ofo|c|of T
7| 4f : left = 0, right = n-1
liste| &7t 2| X| : middle = (left + right) / 2
listimiddle]2} searchnum= H|W ot =
1) searchnum < list[middle] :
list[0] <= searchnum <= list[ middle - 1]
right = middle-1
2) searchnum = listfmiddle] : middle= gtzt
3) searchnum > listfmiddle] :
listfmiddle+1] <= searchnum <= list[n-1]
left = middle+1



while (there are more integers to check) {
middle = (left + right) / 2;
If (searchnum < list[middle])
right = middle - 1;
else if (searchnum == listmiddle])
return middle;
else left = middle + 1;

Hlm GIAt: Bt OjAE
#define COMPARE(x,y) ((x) < (y)) ? -1 : () == (y)) 2 0 : 1)
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int binsearch(int list[], int searchnum, int left, int right)
{
int middle;
while (left<=right) {
middle = (left + right)/2;
switch (COMPARE(listfmiddle], searchnum)) {
case -1: left = middle + 1;
break;
case 0: return middle;
case 1: right = middle - 1;
}
}

return -1;

)
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0| bR 7| FOf| A}7| RHAS CHA| &
- A =%l : direct recursion ——
- ZH =2t indirect recursion — —

« factorial, A5 A&, Ol A=
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Factorial Al AL

(iterative) A|At
int fac_iter (int n) {
int fact=1, k ;
for (k=n; k>0; --k)
fact *= k ;
return fact ;

}

o =3} (recursive) AlAt

L—

int fac_rec (int n) {
if (n <= 1) returnl; // =2
A

else return n * fac_rec (n-1);//Al




Aekls Al

« HFE (iterative) AlAl
double pow_iter (double x, int n) {
double pow = 1;
for (int k=0; k<n; ++k)
pOW *= X ;
return pow ;
}
« T2t (recursive) ALt O|ER = O HE
double pow_rec (double x, int n) {
if (n==0)returnl; // =22 HF= &=
else if (N%2==0) {// &=
return pow_rec(x*x, n/2) ;
} else { /2=

return x*pow_rec(x*x, (n-1)/2) ;



« OIlKI [OIX EA80| CHet =8t 8]
Int binsearch(int list[], int searchnum, int left, int right)
{ I* search list[0] <= list[1] <= ... <= list[n-1] for searchnum?*/

Int middle;
if (left <=right) {//=&=2=0| S22 = U= IH =H £F
middle = (left + right) / 2;
switch (COMPARE(listfmiddle], searchnum)) {
case -1:return binsearch(list, searchnum, middle+1, right);
case O:return middle;
case 1. return binsearch(list, searchnum, left, middle-1);

}
}

return -1;

}



-a, b, c:(a,b,c),(a,c,b),(b,ac), (b,c,a),(c,a,b),(c,b,a)

-n&A nt e AOolet =&

_ U =2

-a, b, c,d
1) az Al&Gt= b, c,dl 2= =&
2)bZ Al&ol=E a,c,dl 2= =&
3)cE Al&ol= a, b, del B =&
4)d=2 Al&Eol= a, b, cl E= =&

ool

Z= |

= S : perm(list, 0, n-1);



void perm(char *list, int I, int n)
[* generate all the permutations of list[i] to list[n]*/ {
Int j, temp;
if i==n) {/ BAHXA
for (j =0; ) <=n; j++)
printf("%c", list[j]);
printf(" ");
}
else {
* list[i] to list[n] has more than one permutation,
generate these recursively */
for (J=1;] <=n; J++) {

SWAP(list[i], list[j], temp):
perm(list, i+1, n);
SWAP(listi], list[j], temp):

}

}
}



ol 0| & (P15 A=A 11)

#include <stdio.h>
void hanoi (int n, char from, char tmp, char to) {
If (n==1) {
printf ("disc 1 from %c to %c¥n", from, to) ;
} else {
hanoi (n-1, from, to, tmp) ;
printf ("disc %d from %c to %c¥n", n, from, to) ;
hanoi (n-1, tmp, from, to) ;

}
// tower A, B, C and discs from A to C

iInt main () {
hanoi (64, 'A', 'B', 'C") ;



O O|Ef = &1}

1. hanoi (1, 'A', 'B', 'C") ;
disc 1 from A to C

2. hanoi (2, 'A', 'B', 'C") ;

disc 1 from A to B
disc 2 from A to C
disc 1 from B to C

3. hanoi (3, 'A', 'B', 'C") ;

disc 1 from A to C
disc 2 from Ato B
disc 1 from C to B
disc 3 from A to C
disc 1 from B to A
disc 2 from B to C
disc 1 from A to C

4. hanoi (4, 'A', 'B', 'C") ;

disc 1 from A to B
disc 2 from A to C
disc 1 from B to C
disc 3 from A to B
disc 1 from C to A
disc 2 from C to B
disc 1 from A to B
disc 4 from A to C
disc 1 from B to C
disc 2 from B to A
disc 1 from C to A
disc 3 from B to C
disc 1 from A to B
disc 2 from A to C
disc 1 from B to C



3 GlOlet =&t =t

e C AN 7|E H|O|E} EFY : char, int, float, double
- 7| ¢ £ short, long, unsigned0f 2|3l HA

e Xt=EO| 153} :H H%‘(array) T K| (structure)
- int list[5] : D42 HHE
R
struct student {
char last_ name;
int student_id;
char grade;
}
- HZOIE GHO|E} EIY : Ed, dd, =AY, floaty ZOIH
int i, *pi;
- MSOE MEZ HO[E} EFR - ArEX} ZL| O|O|Ef EF R



« 89| : O|O|E} EfRi(data type)= 2 A|(object)@f 1 ZHA| <0
L 55t= HLH(operation)=2| &gt

* O|O|H EIE into] Of
— ZHH| : 0, +1, -1, +2, -2, .., INT_MAX, INT_MIN
— AL+, - % ) %, HAE ALK} KSR
* atoil} &2 T 2| (prefix) HAXL, +2F 22 F2(infix) &
AFKE

* O|F, OW7h |H=, Z0t7F B M| Z[O{OF &

+ [O|O|H EtQlo| Zix| HE3
— char & : 1 H}O|E H|IE <&
—int ¥ : 2 E= 4H[O|E
—~ IHEQ LIRS ARV BEEE St 5
AN o1 W80 Cheh ArEAT Z2He| =§d



Ol =4 Xt E Y (ADT : abstract data type)

— AH 2] FMet I Ao AV O HH2| Hedut

H 22l XAey

~ Qo] RHO|LE 2K o] EHO| SUHOR 2]

M fois BAHSE A=
Ada - package, C++ - Class

ADT &ite| EA

- gt Ol 5, O/l By, 2t 27/t
- LW BO0|LE T2 0f CHeE KMot 282

ADT7} 71210| =&

ADTO| 2|7} @3] MHE|OfX| B, 1 & 7



Ol [Z=A X} &S Natural Number]
Structure Natural Number
B X[ (objects): 0 O A AZISHA HBREHSL| =[O = 4f INT_MAX)7}X]
=Mzt =l =0 2& EHP{O|C}

gk=(functions): for all x, y & Nat_Number, TRUE, FALSE € BooleanO0f LCH{
S, O7|M +, -, <, 2|1 == £ LEt™ Ol M4 ALK}LO|C

Nat_No Zero() = 0

Boolean Is_Zero(x) If (x) then FALSE

else return TRUE

if (x+y)<=INT_MAX) return x+y

else return INT_MAX

Nat_No Add(x, y)

Boolean Equal(x,y) = if (x==y) return TRUE
else return FALSE
Nat No Successor (x) = If (x==INT_MAX) return x
else return x+1
Nat_No Subtract(x,y) := if (x<y) return O

else return x-y
end Natural Number
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float abc(float a, float b, float c) {

return a+b+b*c + (a+b-c) / (a+b) + 4.00;



e OIAl 1.7 : D8 22t 23 HHE (2D n)
— S0l St g el MY 2HAl
— Pascal : gt = (call by value)
.Ssum(l)=Ssum(n)=n: BHE &Mt LAID|LEAN 2 At
—C: g HEMW A9 =A MY

. Ssum(n) =0

float sum(float list[], int n) {
float tempsum = 0;
int i;
for (i=0;i<n; i++)
tempsum += list[i];
return tempsum;

h
[/ T2 1.10



oAl 1.8
— rsum : AOTAHZ} Of7f HE, X[ BHas Off w2t
= MY
float rsum(float list[], int n) {
if (n) return rsum(list, n-1) + list[n-1];
return O;
y//EE202 111

Hi 0| n = MAXSIZE Bt2 09| 7|&tAE 74X
Srsum(MAX SIZE) = 6 * MAX SIZE Q=2 #3tstat

= QHH|IES 7tE

A



1.4.2 A2t =&k

T=14H POl oo 2R 5|= AlZEH: T(P)
— AL A[ZE+ TP (2 AlZh)

I_P(n)=Ca ADD(n) + Cs SUB(n) + CI LDA(n)+ Cst STA(n)

— Ca, (s, (] Cst: 44 Aibs sAoHY| ol 2Rt &g+ Al

!

— ADD SUB, LDA, STA(n): £ noj| CHSF G1AF A8 31

24 Al SEHC ddALS F2 Me ALE 2
o|g¢t d5580[&
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CH Al (program step)
e TEHN =SEHHQ AX2 HAO SIS H A
« HO|: E_a“ =t Hl (program step)
— B AIRI0| QIAEIA SHU ARG0 PRNOR T
S0lXOZ SeidE 2E nE sl oy
o ] step O
—a=2
— a = 2*b+3*c/d-e+f/g/a/bl/c
_ SHEH AIBHO| RS AI2I0] QAEA SHH SEROI0
Of ef.

T2 o] J A e 1
— A BH= countl] AIE



UKl [=XI gt SIAES] &dt=s Rlet Bt= S =]

float sum(float list[], int n)

{ float tempsum = 0; count++; /*HHEEZS ®Ist &AH ¥/
Int I;
for(1=0;1<n;i++){

count++; [*for S L E F|ot AAF*/
tempsum += list[i]; count++; /* B 2= ISt A A */
}
count++; /[*for=2| OFX[S Al #/
count++; [*Bt=t= ot =& #/
return tempsum;
S —

float sum(float list[], int n) /* St=3t= T Z )4 */
{ float tempsum = O;

Int I;

for 1I=0;1<n;i++)
count += 2;

count += 3;

return O;

T ) &H SHH S 2n + 3 steps



Gl Ml [2=Xl 2t 2IAEQ 82 25 =3 55
float rsum(ﬂoat list[], int n)

{
count++; [*if2s ?let =& */
it (n) {
count++; [* Bttt rsume| SE= /et 2 & ¥/
return rsum(list, n-1) + list[n-1];
}
count++;
return list[O],
}

n=0 -> 2 (if, OFXI& return)
n>0->2 (if, 43 return) : n3l S &
2n + 2 steps

2n + 3 (iterative) > 2n + 2 (recursive)
Titerative > /recursive ??
EH = BEAIBE 2F B & &0) 20/ Al2tE =282 X0/ [ =
c/C}.



o HHHC] HlAH (RIS 2)
HIOl= & 4 (tabular method) : &H % HIOI=
@® —EQOH CHSF SHHI 4= : steps/execution, s/e

@ 2&0| =8 = &= 8l & 5=(frequency)
- tll’\'é'i &0 Bl =0
@& HHF+ =BT x sle
o [==Xl 8t 2|AES &dtE ?let Bt = S F]
sle le+ & B+
float sum(float list[], int n) 0 0 0
{ 0 0 0
float tempsum = O; 1 1 1
int i 0 0 0
for (I=0;1<n;i++) 1 n+1 n+1
tempsum += list[l]; 1 n n
return tempsum; 1 1 1
0 0 0

Oll e

ol 2n+3

Il



IR [=XI 8t 2IAECS| SAS PIE &8 55

sle le+ &+

float rsum(float list[], int n) 0 0 0

{ 0 0
If (n) 1 n+1 n+1
return rsum(list, n-1) + list[n-1]; 1 n n
return list[O]; 1 1 1

} 0 0 0

SH| 2n+2

e T Z) 1.62 &< binsearchE 1174

=ABHE 2 AES A QB SE FAS

EtAH A 2HE2 searchnum @l S X| 0l (2t CH2 LY,

CHH =2 S ol Z2FoHA &0, =& zleh Has Zoetl.

Z A SHH = =HE OHIHH=0l CHoll & & E == U= SHI 2L
o HH = =UHE OHIOHSH =0l CHoll & &HE = U= SH =t =T
8o HH=x 0 =2 <= UAAEAN ol 2= B

CHH| 2=

-



1.4.3 82 HI|E

o CHA|== (step count)

- £ Z2IYo| A2t 2 E Hmoj AR
— QIAEHAQS E40| U2 HAA|ZEL| 57 0|=0f ARS
— J2fLt, 3t stepO| st MMA|ZHS JIX|X| fomE £
ZEJWL H|nstes 2E0|s S8HX| Lt
X=Y, X=y+z+(X/y)+(x*y*z-x/z) & SHEHA =2 Aot

- step count A0 H2H SHESE F=E ALE

2FX O] C
1 1 -

_ |

H742 o)

—100n +10,3n + 3 == jeFno| &2 HHA

— 1000n1f NA2 + 2n= H|WSEH n <= 9980 A{= 1000n0|
AX[T EH 2 nY| CSA= nr2 + 2nO| G AL},

- n8| FMEHL= nf22| SHE7F n0| HAO| M2 |4

T F7t




 Big "oh" : (f of n2 big-oh of g of n)
—f(n) = O(g(n)) iff Ipositive constants ¢ and n;, s.t.
f(n) < cg(n) for all n, n > n,
e ex:3n + 2 =0(n)
—3n + 2 <4n foralln > 2
— &, ¢c=4, ny=2, g(n)=n2| 4%0|L}.



Ol &l 1.15

nz22, 3n+2<4n 3n+ 2 =0(n)

nz23,3n+3<4n 3n+ 3=0(n)

n=10,100n+6<101n 100n + 6 = 0(n)

nz5,10n"2 + 4n + 2 <11n"2 10n"2 + 4n + 2 = O(n"2)
n=4,6*2"n +n"2<7*2"n  6*2”n + n"2 = O(2”n)
nz22,3n+3<3n"2 3n+3=0(n"2)

n=2,10n"2 + 4n + 2 <10n*4  10n"2 + 4n + 2 = O(n*4)

n=n0@ 2= ndt A2 &= cOl CHoH
3n + 2 <= ¢ J} false@! ARIF & otH 3n+2#£0(1)
10n"2 + 4n + 2 # O(n)



 order of magnitude (2 EX}
—0O@1) : A==(constant)
— O(log n) : logarithmic
—O(n) : AMZ(linear)
— O(nlog n) :log linear
— O(n¢) : ™WHtx¥(quadratic)
— O(n3) : 28I (cubic)
— O(2") : X|=A(exponential)
— O(n!) : factorial

* 1(n) = O(g(n))

—n2n0@! 2= n0ll CHol g(n) &t

/\)
L

= oH
—g(n)2 2= 8+=oles JHE &2 &0 0¢F

F



e Therem12: f(n)=a n" +---an+a,
~ fme K47t HY 2 om™
— Proof:
f(n)=> |ai|ni =n">" |ai|ni_m =n">" |ai|

« 9
— 10n°+4n+ 2
@)

=0(n?)
- o(n®) 21t g

— Opx7ER|2 3n+ 2 = O(n* 2= Qs
-0 (g(n)) & 78 A7t 2 A= M8



« A2 [Omega] [f(n) = Q(g(n)) (5tstak)

f(n) = Qg(n)) iff c,n_ 0>0 &4, s.tf(n) >= cg(n) Z=n, n>=
n0

DA
nz21,3n+2=23n 3n+2=Q(n)
nz1,3n+323n 3n+3=Q(n)
n=1,100n+6 =100n 100n+ 6 =Q(n)
n=1,10n"2 + 4n + 2 =2n"2 100n"2 + 4n + 2 = Q(n"2)
n=1,6*2n+n"22=22"n 6*2"n + n"2 = Q(2"n)

l
0

g(n) : f(n)2l atet gf(Jt=st

)



« &9l [Theta] [f(n) = ©(g(n))
f(n) = ©(g(n)) iff C1, C2, n0 >0 =4/, s.t Clg(n) < f(n) < C2g(n), Z= n,
n >=n0

Odl Kl

nz22,3n<= 3n+2<=4n => 3n+2=0(n)
-c1l=3,¢c2=4,n0=2
3n + 3 = O(n)

10n"2 + 4n + 2 = O(n"2)

6*2”n + n"2 = ©(2"'n)

10xlog n + 4 = O(log n)

g(n)Ol f(n)Oll CHEH AYBH 2t 68t 242 25 JIRl= AL

gn)e H=+== 25 11

Odl Kl
/sum =2n + 3 Tsum(n) = O(n)
/rsum(n) =2n + 2 = O(n)
/add(rows,cols) = 2rows cols + 2rows + 1 = O(rows cols)



. HIZA =& & (asymptotic complexity:0,Q,0)= & &tsh ct
H =2 H A& S0l EH &

. GIH [#E RMo 2ET)

= ) ) 328 =48k
void add(int a[ ] [MAX_SIZE] --*) 0
{ 0
inti, j; 0
for (I=0; | < rows; i++) O(rows)
for (J=0; j < cols; J++) O(rows cols)
c[illj] = a[i][j] + b[il[jl; O(rows cols)
} 0
= Al O(rows cols)

Gl X [O] & EF AR
— X 2] 1.6, while loop=]log,(n+1)] OI2 2, =2 Oflog n)



T2 )0 AsHINE AdhMeE, 28 T2 n 1

=
—P= 1076 n, Q= n
QI O H22= Q& AIS

>.

Moz 2 [, 2 &S (n, nlog n, "2, n"3)

L

Zotd, n”10, 2" ns=2 n=100& K0l L2l Al2t

(U

INE=Ny]
= 10



nlogn

60 -

50 -

40 -
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Int seqsearch(int list[], int searchnum, int n)

1
Int I;
list [n] = searchnum ;
for (1=0; list[l] != searchnum; I++)

retur,n ((I<n) ? 1: -1) ;




#include <stdio.h>
#include <time.h>
#define MAX_SIZE 1001
#define ITERATIONS 16
int search (int [], int, int)
void main (void)
{ intl, j, position;
int listf MAX_SIZE];
int sizelist[] = {0, 10, 20, 30, 40, 50, 60, 70, 80, 90, 100, 200, 400, 600, 800, 1000} ;
int numtimes[] = {30000, 12000, 6000, 5000, 4000, 4000, 4000, 3000, 3000, 2000, 2000, 1000,
500, 500, 500, 200};
clock _t start, stop; double duration, total;
for (1=0; | < MAX_SIZE; I1++) list[l] =1 ;
for (1=0; | < ITERATIONS; I++) {
start = clock() ;
for (j=0; ] < numtimes[l]; j++)
position = seqsearch(list, -1, sizelist[l]) ;
stop = clock() ;
totoal = ((double)(stop - start)) / CLK_TCK;
duration = total / numtimes[I] ;
printf(“%5d %d %d %f %f\n”, sizelist[I], numtimes[I], (int)(stop — start), total, duration) ;
list[sizelist[1]] = sizelist[I]; /*at2| W& &E*




